ORERHB [v=7]

PR . %0 54 9A24F (R) NFHY ) —2 57
B HDCPA 5 » 7 Ak (WHS) ZBIIAK : 32N (B 32N -&HE:0N)
HDCP LR : 50 LWy THk . #EL
a—2 iR (1/1)
RIEALRTE : N—T Ry b UNEWIE) - T2~ 2 (077 02/ S WVIE) FIRI . %0 54 98248 (R)
JNE {57 ZINE 4 [ic] 2] GROSS HDCP NET i &
E B KAR &= 39 | 42 81| 12.0| 69.0
FERRD KL BIE 41 | 46 87| 16.0| 71.0
SJJ_:%ELLJ IR 43 | 40 83| 11.0| 72.0
A | sk Fi 5B 42 41 83| 11.0| 72.0
AR R 40 43 83| 11.0| 72.0
6 (AR IE 48 45 93 | 20.0 | 73.0
AP ES 44 | 42 86 | 13.0 | 73.0
8 | =F &B 43 44 87| 13.0| 74.0
0 fr| xR BB 38 44 821 8.0| 74.0
10 fr |81 BHk =ik 45 | 42 87| 12.0] 75.0
11 {iF | 1% Br =R 41 | 41 82| 7.0| 75.0
12 {i | Nk 1B 44 44 88| 13.0| 75.0
13 {if | HEA LA 45 45 90 | 13.0| 77.0
14 AL | FHF FE 49 49 98 | 21.0| 77.0
15 fif |IhA & 42 44 86| 9.0 77.0
16 7 |k H B3 52 43 95| 17.0| 78.0
17 i | HH £ 43 47 90 | 12.0| 78.0
18 i | AT B 45 46 91| 12.0| 79.0
19 7 | =7 IEfE# 45 47 92| 13.0| 79.0
20 7 | AR = 50 49 99 | 19.0| 80.0
21 i | AT FE 47 51 98 | 18.0 | 80.0
22 fir |#AH [E#E 47 53 100 | 20.0| 80.0
23 L |TEK BE 46 45 91 | 10.0 | 81.0
24 L | AR ZIA 46 47 93 | 12.0| 81.0
25 L |#EJIl = 49 50 99 | 18.0| 81.0
26 fir | AT RIKER 43 52 95 | 14.0 | 81.0
27 L | R%E BEE 47 56 103 | 22.0| 81.0
28 fir | L 3% — 49 49 98 | 16.0 | 82.0
29 L |FE FEX 44 48 921 10.0 | 82.0
30 L | &EfE —— = 43 52 95| 10.0 | 85.0
31 if |BF&x O FH 48 58 106 | 20.0 | 86.0
AR StkE 47 49 96| 0.0 96.0
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BAEEfH:  Fn 54F 9H24H (R) NFA b )= 5T
BB . HDCPA 5 v 7 REE (WHS)  BIMAK 268 (BHE: 260 - &t 0N)
HDCP LR : 50 Fruuln 8. |L
A W OH 1/ 1
FURALRE : ~N—T7 x> b (UNEWNE)  » 2200~ 2 (=777 02/ S WE) Fikl - %0 54 98248 (H)

Jll:a‘_\{i Z N 4 [ic} 2] GROSS | HDCP NET fig &
W IEEET 42 | 40 82 | 13.0 | 69.0
TEERE | KF & 42 | 33 751 3.0] 72.0

G| KAIR & 45 | 43 88 | 15.0| 73.0

A D RF =% 42 | 39 81| 6.0| 75.0

6 (KB 2 45 | 43 88 | 13.0 | 75.0

& (0 HE =5 47 | 42 89 | 13.0| 76.0

7 fp|fEm Eh 44 | 41 85| 9.0 76.0

(8 fir) %M BB 47 | 44 91 | 15.0 | 76.0

9 (B3 1% 41 | 43 84| 8.0| 76.0

10 fe M+ BE 45 | 42 87 | 10.0 | 77.0

11 fiz |5 EiR 40 | 43 83| 6.0 77.0

12 fif | TRk =i 48 43 91 | 13.0| 78.0

13 fif |SFiR B 5 43 39 82| 4.0| 78.0

14 fiz |REH 3 46 | 46 92 | 14.0| 78.0

15 A |yl o 42 | 44 86| 8.0 78.0

16 7 | /bR Bk 53 | 40 93 | 14.0| 79.0

17 iz |&FH BEE 50 46 96 | 17.0| 79.0

18 fif | K'E =i 45 | 42 87| 8.0 79.0

19 A7 | HEH T 48 | 47 95| 16.0 | 79.0

20 {oL | Rk 1= 49 | 47 96 | 16.0 | 80.0

21 ff [ AL FEX 41 43 84| 4.0 80.0

22 fiL |8 BB 43 45 88| 8.0| 80.0

23 i | KU K8 48 48 96 | 14.0 | 82.0

24 L | Agk ANHE 49 47 96 | 11.0 | 85.0

25 A7 B El— 54 54 108 | 20.0 | 88.0

26 f\Z | /i EE 54 56 110 | 16.0 | 94.0
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BB 4F0 548 9H248 (H) NFEH ) —7 57
BhE . HDCPA o F v 7 ABE(WHS) ZIMA% - 1BA (B 0N - it : 130)
HDCP EFR : 50 oI &L
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BIEPZIRE : ~N—TF v b UNEWIE) - &=/~ 2b (=77 va/s E WIE) IR : 550 548 9H24H8 (A)

JEA7 Z2INE 4 ] 3] GROSS HDCP NET 3
Céi::ﬁ@ KA HF A7 | 42 89 | 22.0| 67.0
AEERS |5 T 42 | 37 79| 8.0 71.0

G @B|ET b7 43 | 45 88 | 16.0 | 72.0

4 L | K & 38 45 83| 11.0] 72.0

5 i |[®A BEF 43 47 90 | 17.0 | 73.0

6 fif | B E BT 50 40 90 | 13.0| 77.0

T TE BEF 47 41 88| 11.0| 77.0

8 AL | ILF f=3 54 47 101 | 23.0| 78.0

9 N\ | FH wWphH> 45 45 90 | 12.0| 78.0

10 iz |5 H M 42 44 86| 8.0| 78.0

11 L B b 27T 51 50 101 | 20.0| 81.0

12 if | RAER EHE 47 49 96 | 15.0| 81.0

13 A7 [db)ll Fn=F 56 59 115 30.0 | 85.0




